S190. Let a,b, ¢ be positive real numbers. Prove that

(RS SE SR 1+1+12
262 +bc  2024+ca  2c24+ab ~9\a b ¢/

Proposed by Arkady Alt, San Jose, California, USA

Solution by Anthony Erb Lugo, San Juan, Puerto Rico

By the AM-GM Inequality, we have
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202 +bc a2+ a2+ be ~ 3a¥abe

This implies that

202 4+bc 202 +ca  2¢2+ab T 3Fabc\a b ¢

Thus, it is sufficient to prove that
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But this last inequality is equivalent to
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which follows directly from the AM-GM Inequality, so we are done.

Also solved by Andrea Fanchini, Canti, Italy; Daniel Lasaosa, Universidad Publica de Navarra, Spain;
Henry Ricardo, NY, USA; Perfetti Paolo, Dipartimento di Matematica, Universita degli studi di Tor
Vergata Roma, Italy; Prithwijit De, Mumbai, India.
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